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e Please check that this question paper contains 7 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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There are 22 general questions.

Questions No. 1 - 7 are very short-answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

Questions No. 8 — 13 are short-answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80 — 100 words.

Questions No. 14 — 20 are long-answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

Questions No. 21 - 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.

All questions are compulsory.
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Toreft yewr < SHEEET & "qca <hY TUET foRE TR <kl ATt B 2 1

How is density of population of a region calculated ?

T el HfHeh fohrg hal STdT 2 2 1

Who are called red collar workers ?

fhe <31 | AICT-ATT bl ‘3TTeI-aT8d Shad & ? 1

In which country are motorways called ‘autobahns’ ?

3U-TRTT 6t gl g fosiwaren 1 3g@ hif | é+i=
2

Mention any two characteristics of sub-urbanisation.

qRA T U R o 9@ § fhd €1 el § Faifieh Gema 6l 8 ? Ty1-g

2 2

What two factors mostly helped in the development of ancient towns in
India ?

‘waftm =g’ weg i SATE HINT | 1
Explain the term ‘Golden Quadrilateral’.

TG G 3c9e ST UgWehi o Teheal Q1 GIdi <l 3g@ hIfT | 1
Mention any two sources of water pollutants created by humans.

“gepfd w1 FH TR @I o e % fau ot wewqu g |7 o
ISTEW <d U, 36 HUA hHl Y FHIVT | 3x1=3

“The knowledge about nature is extremely important to develop
technology.” Support this statement by giving three examples.

T &7 bl TN hid o foTU Afeha <M gRT ST TN ST AR
o HIICUS hi 3eT8WN Higd TI5E hIFT | 3x1=3

Explain with examples the ‘population size’ criteria used by most
countries to define urban areas.

R i esd T i i fohegl diF foRIvaret shi samedn i | 3x1=3

Explain any three characteristics of clustered rural settlements of India.
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11. ¥a fo=ms 3 Icures = A 3=t wuse hifvu | 3x1=3

Differentiate between protective irrigation and productive irrigation.

12. fooicll 319 o & GO0 g Fashi H ¥ Th g | s foeeft s,
TTehfeh 18 3R UL o gRI SHTs ST 8, Sl 99T §&19H & | &1 37
foreteft & forT W THTS hl e T S Tehd & 2 WiasT T UHT &1 Hehdl 7, 9
St o Tt FEIEE THIE B A | 37 oAl hl AT hiT, ST 38 gEITed
3TYY TG hl 9CA Hhd @ | 3
Electricity is one of the greatest inventions of all times. It is mostly
generated by wusing coal, natural gas and petroleum, which are
exhaustible resources. Can you imagine the human society without
electricity ? This may happen in future, when all energy resources will be
exhausted. Explain the values that can change this possible dark
scenario.

13. a4 Sguur ford hEd @ ? e YguuT < fohedl =R &l i SAmed hIY | 142=3

What is noise pollution ? Explain any four sources of noise pollution.

14. form sruma fopd gd 2 2 TER H o7 S1uTd & Ufced ! ITh 380N |fed

TS HIT | 1+4=5

What is sex ratio ? Explain the world pattern of sex ratio with suitable

examples.

15. ‘TMST q9[EE dTeE Weg ohl giwryT dfre | gEehl TRl @R fomiwareti <l
AT iU | 1+4=5
Define the term ‘commercial livestock rearing’. Explain its any four
characteristics.

16. Tafehcan wied fopd #gd § ? IRa § THE-IR UM o 7w wamed qansti o
TFER Sl AT HIT | 1+4=5

What is medical tourism ? Explain the scope of medical services for
overseas patients in India.

17. IR IWENH & T8 A IR-HEGHE GHT SH-A1 8 ? 8! fhedl ar
ferranatt =1 v i | 1+4=5

Which is the longest trans-continental railway of North America ?

Describe its any four features.
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e glg’ weg K aitwrer T | wRd H SE glg o qdiE (1) Sreeen

%1 Ui i | 1+4=5
Define the term ‘growth of population’. Describe the third (III) phase of
growth of population in India.

IR HfY Srefedacen § @RIA & Agd %l W HINT | Fmad 6 HY 6
fopegl A forIwaati =1 i IS | 2+3=5

Explain the importance of foodgrains in the Indian agricultural economy.

Describe any three characteristics of rice cultivation.

“arefi &t 3 fafag gwRfa & AT @ wwane o fEn ' 17 SugE I
ST 39 %A i gfse i | 5x1=5

“Indian railways brought people of diverse cultures together.” Support

this statement with suitable examples.

TR % fou T TS @amtEE (98 9 W) °, 99 @89 A, B, C, D 3R E
% g fe@me mu § | g el i e d g SHehrt <l FErEaT | ugEeY 3R

37k HEI A 3k Tehe i T3 {@etl T fAfa 5x1=5
A, 99 foE gaeh 2003 § e g1 aren o

B. U WM I A=< wRH

C. TUH Y@ HqgI-qaA

D. TH Y@ fadH-9eH

E. U #m 5

In the given political outline map (on page 9) of the World, five features
A, B, C, D and E have been shown. Identify these features, with the help
of the information given below and write their correct names on the lines
drawn near them :

A. A country having the lowest rank in Human Development Index
2003

B. A railway terminal station

C. A major sea-port

D. A major airport

E. A mega city
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HefcTigad v7 @ac gieanea ahenfeen & fog, 97 G 21 & T
WE:

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

(21.1)

(21.2)

(21.3)
(21.4)
(21.5)

HHa forehtd gaehieh 2003 § fhd <91 %1 gt fiegaw & 2

AT fTaTE IR Yermmt o Afy THi o AW «dmsy |

zfeqor sfteRT & fonelt v y@ Tudl-um 1 W SdTsT |

= Ffiete o TH@ fomM-9= &1 9 FaTsy |

I IR & forell T A it 1 A Samsy | 5x1=5

Which country has the lowest rank in the Human Development
Index 2003 ?

Name the terminal stations of the Australian Trans-Continental
Railway.

Name any one major sea-port of South America.
Name the major airport of New Zealand.

Name any mega city of North America.

qRA o (U T Tk W@-AEREE (I8 11 W) |, fefafad $ feafd sagw
fogl @ fagmsu it 39 am fafew . 5x1=5

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

Ty 98 &A% Il TS

I 1 TEY FST 3cTTeh ST
e I d AT HRGHT
SIS H TAIE-EdTd hl Tehlehd HIA

. N C o
qolTel | STt fom-ueH

On the given political outline map (on page 11) of India, locate and label
the following with appropriate symbols :

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

The State having the largest area

The leading tea producing State

An oil refinery in Karnataka

An integrated Iron and Steel Plant in Odisha

The international airport in Punjab
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HefeTiaa 397 Faer gieamaa qhemdal & g, 397 G697 22 & T |

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1)
(22.2)
(22.3)
(22.4)

(22.5)

(22.1)
(22.2)
(22.3)
(22.4)

(22.5)

qRd o Tl o8 A% el T hl A1 FaqTsy |
AT [ < 1 a8 o1 Icd1ceh TsT hiH-9T 3 ?

e | I TIM HT 919 Fd18L, Tl dt IMFeh HREHT feq 7 |

TSI & IW TIM 1 T FATSY, &l AG-3891d I Tehichd T oo
g |
ST o fohd TR H SFraisd fomma-uae feda 7 2 5x1=5

Name the State of India having the largest area.
Which is the largest tea producing State of India ?
Name the place where an oil refinery is located in Karnataka.

Name the place where an integrated iron and steel plant is
located in Odisha.

In which city of Punjab is an international airport located ?
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T E. 21 & fow For question no. 21
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I E. 22 % fow For question no. 22

WA T {T-AHRE (TS TR )
Outline Map of India (Political)
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